Thai Journal of Mathematics Volume 15 (2017) Number 3 : 629–639



http://thaijmath.in.cmu.ac.th ISSN 1686-0209

# Weak and Strong Convergence Theorems of Some Iterative Methods for Common Fixed Points of Berinde Nonexpansive Mappings in Banach Spaces

#### Somchai Kosol

Department of Mathematics, Faculty of Science Lampang Rajabhat University, Lampang 52100, Thailand e-mail : somchai@lpru.ac.th

**Abstract**: In this paper, we construct new iteration method for approximating a common fixed point of Berinde nonexpansive mappings in a Banach space and give some sufficient conditions for weak and strong convergence of the proposed methods.

Keywords : weak and strong convergence; iterative methods; common fixed points; Berinde nonexpansive mappings; Banach spaces.
2010 Mathematics Subject Classification : 47H05; 47H10.

## 1 Introduction

Let C be a nonempty convex subset of a Banach space X and  $T: C \to C$ be a mapping. A point  $x \in X$  is a fixed point of T if Tx = x. We denote by F(T) the set of all fixed points of T. Let  $T_i: C \to C$ , i = 1, 2, 3, ..., Nbe mappings, a point  $x \in C$  is a common fixed point of  $\{T_i\}_{i=1}^n$  if  $T_i x = x$ , for all i.

Copyright  $\bigodot$  2017 by the Mathematical Association of Thailand. All rights reserved.

In 2003, Berinde [1] introduced a new type of contraction, called weak contraction, and proved a fixed point theorem for this type of mappings in a complete metric space by showing that the Picard sequence converge strongly to its fixed point.

Recently, there are many iterative methods using to approximate fixed points of nonlinear mappings, such as Mann iteration and Ishikawa iteration and Noor iteration.

The Mann iteration (see [2]) is defined by  $u_0 \in C$  and

$$u_{n+1} = (1 - \alpha_n)u_n + \alpha_n T u_n \tag{1.1}$$

for all  $n \in \mathbb{N}$ , where  $\{\alpha_n\}$  is a sequence in [0, 1]. For  $\alpha_n = 1$ , the iteration (1.1) called the Picard iteration.

The Ishikawa iteration (see [3]) is defined by  $s_0 \in C$  and

$$t_n = (1 - \beta_n)s_n + \beta_n T s_n,$$
  

$$s_{n+1} = (1 - \alpha_n)s_n + \alpha_n T t_n$$
(1.2)

for all  $n \in \mathbb{N}$ , where  $\{\alpha_n\}$  and  $\{\beta_n\}$  are sequences in [0, 1].

The Noor iteration (see [4]) is defined by  $s_0 \in C$  and

$$u_n = (1 - \gamma_n)s_n + \gamma_n T s_n,$$
  

$$w_n = (1 - \beta_n)s_n + \beta_n T u_n,$$
  

$$s_{n+1} = (1 - \alpha_n)s_n + \alpha_n T w_n$$
(1.3)

for all  $n \in \mathbb{N}$ , where  $\{\alpha_n\}, \{\beta_n\}$  and  $\{\gamma_n\}$  are sequences in [0, 1]. It is easy to see that Mann iteration and Ishikawa iteration are special case of Noor iteration.

The Noor iteration is an iteration method defined as follow :

Let  $T_i : C \to C, i = 1, 2, 3$  be a mapping and let  $\{s_n\}$  be a sequence defined by  $s_0 \in C$  and

$$u_{n} = (1 - \gamma_{n})s_{n} + \gamma_{n}T_{1}s_{n},$$
  

$$w_{n} = (1 - \beta_{n})s_{n} + \beta_{n}T_{2}u_{n},$$
  

$$s_{n+1} = (1 - \alpha_{n})s_{n} + \alpha_{n}T_{3}w_{n}$$
(1.4)

for all  $n \in \mathbb{N}$ , where  $\{\alpha_n\}, \{\beta_n\}$  and  $\{\gamma_n\}$  are sequence in [0, 1]. We note that when  $T_1 = T_2 = T_3$  the iteration (1.4) reduce to the Noor iteration (1.3) for one mapping.

A mapping T is said to be weak contraction if there exists  $L \ge 0$  and  $\delta \in (0, 1)$  such that

$$||Tx - Ty|| \le \delta ||x - y|| + L ||y - Tx||$$
 for all  $x, y \in C$ .

630

Berinde [1] proved that in a complete metric space X, every weak contraction mapping has a fixed point and the Picard iteration  $\{x_n\}$  defined by  $x_{n+1} = Tx_n$  for all  $n \in \mathbb{N}$ , converges to a fixed point of T.

In 2013, Phuengrattana and Suantai [5] introduced the following iterative method for weak contraction.

$$z_n = (1 - \gamma_n)x_n + \gamma_n T x_n,$$
  

$$y_n = (1 - \beta_n)z_n + \beta_n T z_n,$$
  

$$x_{n+1} = (1 - \alpha_n - \lambda_n)y_n + \alpha_n T y_n + \lambda_n T z_n \text{ for all } n \in \mathbb{N},$$
(1.5)

where  $x_1 \in C$ ,  $\{\alpha_n\}$ ,  $\{\beta_n\}$ ,  $\{\gamma_n\}$ ,  $\{\lambda_n\}$  and  $\{\alpha_n + \lambda_n\}$  are sequence in [0, 1]. They also proved a strong convergence theorem of above iterative method and compared the rate of convergence between Mann, Ishikawa, Noor and SP-iterative methods.

In this paper, we propose a new iteration method as the following :

Let C be a nonempty convex subset of a Banach space X and  $T_i: C \to C$ , i = 1, 2, 3 be a mapping. Our iteration is defined by  $x_0 \in C$  and

$$z_n = (1 - \gamma_n)x_n + \gamma_n T_1 x_n,$$
  

$$y_n = (1 - \beta_n)x_n + \beta_n T_2 z_n,$$
  

$$x_{n+1} = (1 - \alpha_n)T_3 z_n + \alpha_n T_3 y_n \text{ for all } n \in \mathbb{N},$$
(1.6)

where  $\{\alpha_n\}, \{\beta_n\}$  and  $\{\gamma_n\}$  are sequences in [0, 1].

Then we prove the weak and strong convergence theorems of the proposed iteration method for approximating a common fixed point of Berinde nonexpansive mappings in a Banach space.

#### 2 Preliminaries

We recall some definitions and useful results that will be used for our main results.

**Definition 2.1.** Let C be a nonempty subset of Banach space X. A mapping  $T: C \to C$  is said to be *contraction* if there exists  $k \in [0, 1)$  such that

$$||Tx - Ty|| \le k ||x - y||$$
 for all  $x, y \in C$ . (2.1)

**Definition 2.2.** Let C be a nonempty subset of Banach space X. A mapping  $T: C \to C$  is said to be *nonexpansive* if

$$||Tx - Ty|| \le ||x - y||$$
 for all  $x, y \in C$ . (2.2)

**Definition 2.3** (Condition (\*)). Let C be a nonempty subset of Banach space X and a mapping  $T: C \to C$  is satisfy *condition* (\*) if there exists a constant  $L \ge 0$  such that

$$||Tx - Ty|| \le ||x - y|| + L ||x - Tx|| \quad \text{for all } x, y \in C.$$
 (2.3)

**Definition 2.4.** Let C be a nonempty subset of Banach space X. A mapping  $T : C \to C$  with  $F(T) \neq \emptyset$  is said to be *F*-contraction if there exists  $k \in [0, 1)$  such that

$$||Tx - p|| \le k ||x - p||$$
 for all  $x \in C, p \in F(T)$ . (2.4)

**Definition 2.5.** Let C be a nonempty subset of Banach space X. A mapping  $T: C \to C$  with  $F(T) \neq \emptyset$  is said to be *quasi-nonexpansive* if

 $||Tx - p|| \le ||x - p||$  for all  $x \in C, p \in F(T)$ . (2.5)

It is clear that a *F*-contraction is quasi-nonexpansive.

**Definition 2.6.** Let C be a nonempty subset of Banach space X. A mapping  $T : C \to C$  is said to be *Berinde nonexpansive* if there exists  $L \ge 0$  such that

$$||Tx - Ty|| \le ||x - y|| + L ||y - Tx|| \quad \text{for all } x, y \in C.$$
 (2.6)

**Definition 2.7.** A Banach space X is said to satisfy *Opials condition* if any sequence  $\{x_n\}$  in  $C \subset X$ ,  $x_n \rightharpoonup x$  as  $n \rightarrow \infty$  implies that  $\liminf_{n \rightarrow \infty} ||x_n - x|| < \liminf_{n \rightarrow \infty} ||x_n - y||$  for all  $y \in C$  with  $y \neq x$ .

**Definition 2.8.** Let X be a normed space and  $C \subset X$ . A mapping  $T: C \to X$  is said to be *demicompact* if for any sequence  $\{x_n\}$  in X such that

$$||x_n - Tx_n|| \to 0 \text{ as } n \to \infty,$$

there exists subsequence  $\{x_{n_k}\}$  of  $\{x_n\}$  such that  $\{x_{n_k}\}$  converge strongly to  $x \in C$ .

We will use the notation :

1.  $\rightarrow$  for strong convergence and  $\rightarrow$  for weak convergence.

2.  $\omega(x_n) = \{x | \exists x_{n_k} \rightharpoonup x\}$  denotes the weak  $\omega$ -limit set of  $\{x_n\}$ .

**Lemma 2.9.** Let X be a uniformly convex Banach space and  $B_r = \{x \in X : ||x|| \le r, r > 0\}$ . Then there exists a continuous, strictly increasing, and convex function  $g : [0, \infty) \to [0, \infty), g(0) = 0$  such that

$$\|\lambda x + \beta y + \gamma z\|^{2} \leq \lambda \|x\|^{2} + \beta \|y\|^{2} + \gamma \|z\|^{2} - \lambda \beta g(\|x - y\|)$$
 (2.7)

for all  $x, y, z \in B_r$  and  $\lambda, \beta, \gamma \in [0, 1]$  with  $\lambda + \beta + \gamma = 1$ .

#### 3 Main Results

We will prove weak and strong convergence theorems of our iteration method. To prove this, the following Lemma are needed.

**Lemma 3.1.** Let C be a nonempty closed convex subset of a Banach space X and  $T_i: C \to C, i = 1, 2, 3$  be quasi-nonexpansive mappings. Assume that  $\bigcap_{i=1}^{3} F(T_i) \neq \emptyset$  and  $\{x_n\}$  be a sequence generated by (1.6) and  $\{\alpha_n\}, \{\beta_n\}$  and  $\{\gamma_n\}$  are sequences in [0, 1]. Then for  $p \in \bigcap_{i=1}^{3} F(T_i)$ ,

- (1)  $||x_{n+1} p|| \le ||x_n p||, \quad \forall n \in \mathbb{N},$
- (2)  $\lim_{n \to \infty} \|x_n p\| \text{ exists.}$

*Proof.* (1) Let  $p \in \bigcap_{i=1}^{3} F(T_i)$ . By using (1.6) and  $T_i : C \to C$ , i = 1, 2, 3 are quasi-nonexpansive, we have

$$\begin{aligned} \|z_n - p\| &= \|(1 - \gamma_n)x_n + \gamma_n T_1 x_n - p\| \\ &= \|(1 - \gamma_n)(x_n - p) + \gamma_n (T_1 x_n - p\| \\ &\leq (1 - \gamma_n) \|x_n - p\| + \gamma_n \|T_1 x_n - p\| \\ &\leq (1 - \gamma_n) \|x_n - p\| + \gamma_n \|x_n - p\| = \|x_n - p\| \end{aligned}$$

and

$$\begin{aligned} \|y_n - p\| &= \|(1 - \beta_n)x_n + \beta_n T_2 z_n - p\| \\ &= \|(1 - \beta_n)(x_n - p) + \beta_n (T_2 z_n - p)\| \\ &\leq (1 - \beta_n) \|x_n - p\| + \beta_n \|T_2 z_n - p\| \\ &\leq (1 - \beta_n) \|x_n - p\| + \beta_n \|z_n - p\| \\ &\leq (1 - \beta_n) \|x_n - p\| + \beta_n \|x_n - p\| = \|x_n - p\| \end{aligned}$$

From above inequalities, we get

$$||x_{n+1} - p|| = ||(1 - \alpha_n)T_3z_n + \alpha_nT_3y_n - p||$$
  
=  $||(1 - \alpha_n)(T_3z_n - p) + \alpha_n(T_3y_n - p)||$   
 $\leq (1 - \alpha_n) ||T_3z_n - p|| + \alpha_n ||T_3y_n - p||$   
 $\leq (1 - \alpha_n) ||z_n - p|| + \alpha_n ||y_n - p||$   
 $\leq (1 - \alpha_n) ||x_n - p|| + \alpha_n ||x_n - p|| = ||x_n - p||$ 

Hence, we have  $||x_{n+1} - p|| \leq ||x_n - p|| \quad \forall n \in \mathbb{N}.$ 

(2) From (1) and  $\{\|x_n - p\|\}$  is non-increasing and bounded below, then we have that  $\lim_{n \to \infty} \|x_n - p\|$  exists.

**Theorem 3.2.** Let X be a uniformly convex Banach space and C be a nonempty closed convex subset of X. Let  $T_i : C \to C$ , i = 1, 2, 3 be Berinde nonexpansive and quasi nonexpansive mappings. Assume that  $\bigcap_{i=1}^{3} F(T_i) \neq \emptyset$  and let  $\{x_n\}$  be a sequence generated by (1.6) where  $\{\alpha_n\}$ ,  $\{\beta_n\}$  and  $\{\gamma_n\}$  are sequences in [0, 1] which satisfy the following conditions

- (a)  $\limsup_{n \to \infty} \alpha_n < 1$  and  $0 < \liminf_{n \to \infty} \gamma_n \le \limsup_{n \to \infty} \gamma_n < 1$ ,
- (b)  $\liminf_{n \to \infty} \alpha_n > 0$  and  $0 < \liminf_{n \to \infty} \beta_n \le \limsup_{n \to \infty} \beta_n < 1$ ,

(c) 
$$0 < \liminf_{n \to \infty} \alpha_n \le \limsup_{n \to \infty} \alpha_n < 1.$$

Then

- (1)  $\lim_{\substack{n \to \infty \\ = 0.}} \|x_n T_1 x_n\| = 0, \lim_{n \to \infty} \|x_n T_2 z_n\| = 0 \text{ and } \lim_{n \to \infty} \|T_3 z_n T_3 y_n\|$
- (2)  $\lim_{n \to \infty} ||z_n x_n|| = 0$ ,  $\lim_{n \to \infty} ||y_n x_n|| = 0$  and  $\lim_{n \to \infty} ||x_{n+1} T_3 z_n|| = 0$ .

(3) 
$$\lim_{n \to \infty} ||x_n - T_2 x_n|| = 0.$$

*Proof.* (1) Let  $p \in \bigcap_{i=1}^{3} F(T_i)$ . From Lemma 3.1, we have  $\lim_{n \to \infty} ||x_n - p||$  exists and hence  $\{||x_n - p||\}$  is bounded. Then there exists M > 0 such that  $||x_n - p|| \leq M, \forall n \in \mathbb{N}$ . By quasi-nonexpansiveness of  $T_i$ , we have  $\{x_n - p\}, \{T_1x_n - p\}, \{T_2z_n - p\}, \{T_3z_n - p\}, \{T_3y_n - p\} \subseteq B_M$ . By Lemma 2.9, there exists a continuous strictly increasing and convex function  $g : [0, \infty) \to [0, \infty)$ , with g(0) = 0 such that

$$\begin{aligned} \|z_n - p\|^2 &= \|(1 - \gamma_n)(x_n - p) + \gamma_n(T_1 x_n - p)\|^2 \\ &\leq (1 - \gamma_n)\|x_n - p\|^2 + \gamma_n\|T_1 x_n - p\|^2 - (1 - \gamma_n)\gamma_n g(\|x_n - T_1 x_n\|) \\ &\leq (1 - \gamma_n)\|x_n - p\|^2 + \gamma_n\|x_n - p\|^2 - (1 - \gamma_n)\gamma_n g(\|x_n - T_1 x_n\|) \\ &= \|x_n - p\|^2 - (1 - \gamma_n)\gamma_n g(\|x_n - T_1 x_n\|), \end{aligned}$$
(3.1)

$$\|y_n - p\|^2 = \|(1 - \beta_n)(x_n - p) + \beta_n(T_2 z_n - p)\|^2$$
  

$$\leq (1 - \beta_n) \|x_n - p\|^2 + \beta_n \|T_2 z_n - p\|^2 - (1 - \beta_n)\beta_n g(\|x_n - T_2 z_n\|)$$
  

$$\leq (1 - \beta_n) \|x_n - p\|^2 + \beta_n \|z_n - p\|^2 - (1 - \beta_n)\beta_n g(\|x_n - T_2 z_n\|)$$
  

$$\leq (1 - \beta_n) \|x_n - p\|^2 + \beta_n \|x_n - p\|^2 - (1 - \beta_n)\beta_n g(\|x_n - T_2 z_n\|)$$
  

$$= \|x_n - p\|^2 - (1 - \beta_n)\beta_n g(\|x_n - T_2 z_n\|).$$
(3.2)

From above inequalities, we have

$$\begin{aligned} \|x_{n+1} - p\|^2 &= \|(1 - \alpha_n)T_3z_n + \alpha_n T_3y_n - p\|^2 \\ &= \|(1 - \alpha_n)(T_3z_n - p) + \alpha_n(T_3y_n - p)\|^2 \\ &\leq (1 - \alpha_n) \|T_3z_n - p\|^2 + \alpha_n \|T_3y_n - p\|^2 \\ &- (1 - \alpha_n)\alpha_n g(\|T_3z_n - T_3y_n\|) \\ &\leq (1 - \alpha_n) \|z_n - p\|^2 + \alpha_n \|y_n - p\|^2 \\ &- (1 - \alpha_n)\alpha_n g(\|T_3z_n - T_3y_n\|) \\ &\leq (1 - \alpha_n)(\|x_n - p\|^2 - (1 - \gamma_n)\gamma_n g(\|x_n - T_1x_n\|) \\ &+ \alpha_n(\|x_n - p\|^2 - (1 - \beta_n)\beta_n g(\|x_n - T_2z_n\|) \\ &- (1 - \alpha_n)\alpha_n g(\|T_3z_n - T_3y_n\|) \\ &\leq \|x_n - p\|^2 - (1 - \alpha_n)(1 - \gamma_n)\gamma_n g(\|x_n - T_1x_n\|) \\ &- \alpha_n(1 - \beta_n)\beta_n g(\|x_n - T_2z_n\|) \\ &- (1 - \alpha_n)\alpha_n g(\|T_3z_n - T_3y_n\|). \end{aligned}$$
(3.3)

From (3.3), we have

$$||x_{n+1} - p||^2 \leq ||x_n - p||^2 - (1 - \alpha_n)(1 - \gamma_n)\gamma_n g(||x_n - T_1 x_n||).$$

Hence, we have

$$(1 - \alpha_n)(1 - \gamma_n)\gamma_n g(\|x_n - T_1 x_n\|) \leq \|x_n - p\|^2 - \|x_{n+1} - p\|^2.$$

Since  $\lim_{n \to \infty} ||x_n - p||$  exists and by assumption (a), we get

$$\lim_{n \to \infty} g(\|x_n - T_1 x_n\|) = 0.$$

Since g is continuous and g(0) = 0, we have

$$\lim_{n \to \infty} \|x_n - T_1 x_n\| = 0.$$
 (3.4)

From (3.3), we have

$$\alpha_n (1 - \beta_n) \beta_n g(\|x_n - T_2 z_n\|) \leq \|x_n - p\|^2 - \|x_{n+1} - p\|^2$$
  
and  $(1 - \alpha_n) \alpha_n g(\|T_3 z_n - T_3 y_n\|) \leq \|x_n - p\|^2 - \|x_{n+1} - p\|^2.$ 

By  $\lim_{n \to \infty} ||x_n - p||$  exists and assumption (b) and (c), we obtain

$$\lim_{n \to \infty} g(\|x_n - T_2 z_n\|) = 0 \text{ and } \lim_{n \to \infty} g(\|T_3 z_n - T_3 y_n\|) = 0.$$

Since g is continuous and g(0) = 0, we have

$$\lim_{n \to \infty} \|x_n - T_2 z_n\| = 0 \quad \text{and} \quad \lim_{n \to \infty} \|T_3 z_n - T_3 y_n\| = 0.$$
(3.5)

(2) From (1.6) and results from (1), we have

$$\begin{aligned} \|z_n - x_n\| &\leq \gamma_n \|x_n - T_1 x_n\| &\leq \|x_n - T_1 x_n\| \to 0, \\ \|y_n - x_n\| &\leq \beta_n \|x_n - T_2 z_n\| &\leq \|x_n - T_2 z_n\| \to 0, \\ \|x_{n+1} - T_3 z_n\| &\leq \alpha_n \|T_3 z_n - T_3 y_n\| &\leq \|T_3 z_n - T_3 y_n\| \to 0. \end{aligned}$$

Hence, we obtain

$$\lim_{n \to \infty} \|z_n - x_n\| = 0, \lim_{n \to \infty} \|y_n - x_n\| = 0 \text{ and } \lim_{n \to \infty} \|x_{n+1} - T_3 z_n\| = 0.$$

(3) For  $n \in \mathbb{N}$ , we have

$$\begin{aligned} \|x_n - T_2 x_n\| &\leq \|x_n - T_2 z_n\| + \|T_2 z_n - T_2 x_n\| \\ &\leq \|x_n - T_2 z_n\| + \|z_n - x_n\| + L \|x_n - T_2 z_n\|. \end{aligned}$$

It follows that  $\lim_{n \to \infty} ||x_n - T_2 x_n|| = 0.$ 

**Theorem 3.3.** Let X be a uniformly convex Banach space and C be a nonempty closed convex subset of X. Let  $T_i : C \to C, i = 1, 2, 3$  be Berinde nonexpansive and quasi nonexpansive mappings. Assume that  $\bigcap_{i=1}^{3} F(T_i) \neq \emptyset$  and let  $\{x_n\}$  be a sequence generated by (1.6) where  $\{\alpha_n\}$ ,  $\{\beta_n\}$  and  $\{\gamma_n\}$  are sequences in [0, 1], and satisfy the condition (a), (b), (c) of Theorem 3.2. If  $T_1$  or  $T_2$  is demicompact, then  $\{x_n\}$  converges strongly to a common fixed point of  $\{T_i\}_{i=1}^{3}$ .

*Proof.* By Theorem 3.2, we have  $\lim_{n \to \infty} ||x_n - T_1 x_n|| = 0$  and  $\lim_{n \to \infty} ||x_n - T_2 x_n|| = 0$ . Without loss of generality, we assume that  $T_1$  is demicompact. Then there exists a subsequence  $\{x_{n_k}\}$  of  $\{x_n\}$  such that  $x_{n_k} \to q, \exists q \in C$ . For each  $k \in \mathbb{N}$ , we have

$$\begin{aligned} \|T_1 x_{n_k} - T_1 q\| &\leq \|x_{n_k} - q\| + L \|q - T_1 x_{n_k}\| \\ &\leq \|x_{n_k} - q\| + L \|q - x_{n_k}\| + \|x_{n_k} - T_1 x_{n_k}\| \to 0. \end{aligned}$$

Hence

$$\lim_{n \to \infty} \|T_1 x_{n_k} - T_1 q\| = 0.$$
(3.6)

By triangle inequality, we have

$$||q - T_1 q|| \le ||q - x_{n_k}|| + ||x_{n_k} - T_1 x_{n_k}|| + ||T_1 x_{n_k} - T_1 q||.$$

636

It follows from (3.6) that  $||q - T_1q|| = 0$ . Hence  $T_1q = q$  and

$$\begin{aligned} \|q - T_2 q\| &\leq \|q - x_{n_k}\| + \|x_{n_k} - T_2 z_{n_k}\| + \|T_2 z_{n_k} - T_2 q\| \\ &\leq \|q - x_{n_k}\| + \|x_{n_k} - T_2 z_{n_k}\| + \|z_{n_k} - q\| + L \|q - T_2 z_{n_k}\| \\ &\leq \|q - x_{n_k}\| + \|x_{n_k} - T_2 z_{n_k}\| + \|z_{n_k} - x_{n_k}\| + \|x_{n_k} - q\| \\ &+ L \|q - x_{n_k}\| + \|x_{n_k} - T_2 z_{n_k}\| \to 0. \end{aligned}$$

Therefore,  $||q - T_2 q|| = 0$ . Hence  $T_1 q = q$ . Since  $T_3$  is Berinde nonexpansive, we have

$$\begin{aligned} \|T_3 z_{n_k} - T_3 q\| &\leq \|z_{n_k} - q\| + L \|q - T_3 x_{n_k}\| \\ &\leq \|z_{n_k} - q\| + L \|q - x_{n_{k+1}}\| + \|x_{n_{k+1}} - T_3 z_{n_k}\| \to 0. \end{aligned}$$

Hence

$$\lim_{n \to \infty} \|T_3 z_{n_k} - T_3 q\| = 0.$$
(3.7)

By triangle inequality, we have

$$||q - T_3 q|| \le ||q - x_{n_{k+1}}|| + ||x_{n_{k+1}} - T_3 z_{n_k}|| + ||T_3 z_{n_k} - T_3 q|| \to 0.$$

Hence  $||q - T_3q|| = 0$ , so  $T_3q = q$ . Thus  $q \in \bigcap_{i=1}^3 F(T_i)$ . By Lemma (3.1), we have that  $\lim_{n \to \infty} ||x_n - q||$  exists. Since  $\lim_{n \to \infty} ||x_{n_k} - q|| = 0$ , it follow that  $x_n \to q$ .

A mapping T is said to be *demiclosed at* 0 if  $\{x_n\} \subset C, x_n \rightharpoonup x$ , for some  $x \in C$  and  $||x_n - Tx_n|| \rightarrow 0$ , then  $x \in F(T)$ .

**Theorem 3.4.** Let C be a nonempty closed convex subset of Banach space X that satisfies the Opials condition and  $T: C \to C$  be a mapping satisfying the condition (\*). Then T is demiclosed at 0.

*Proof.* Let  $\{x_n\}$  be the sequence in C such that  $x_n \to x$ , for some  $x \in C$  and  $||x_n - Tx_n|| \to 0$ . For each  $n \in \mathbb{N}$ , we have

$$\begin{aligned} \|x_n - Tx\| &\leq \|x_n - Tx_n\| + \|Tx_n - Tx\| \\ &\leq \|x_n - Tx_n\| + \|x_n - x\| + L \|x_n Tx_n\|, \end{aligned}$$

which implies

$$\liminf_{n \to \infty} \|x_n - Tx\| \leq \liminf_{n \to \infty} \|x_n - x\|.$$

Suppose that  $Tx \neq x$ , by Opials condition, we have

$$\liminf_{n \to \infty} \|x_n - Tx\| \leq \liminf_{n \to \infty} \|x_n - x\|$$
$$< \liminf_{n \to \infty} \|x_n - Tx\|,$$

which is a contradiction. Therefore, Tx = x.

We next prove weak convergence of the iteration (1.6) to a common fixed point of Berinde nonexpansive mappings.

**Theorem 3.5.** Let X be a uniformly convex Banach space having Opials condition and C be a nonempty closed convex subset of X and let  $T_i$ :  $C \to C$ , i = 1, 2, 3 be Berinde nonexpansive mappings such that  $T_1$  and  $T_2$  satisfy condition (\*) and  $T_3$  is weakly continuous. Suppose  $\{x_n\}$  be a sequence generated by (1.6) where  $\{\alpha_n\}, \{\beta_n\}$  and  $\{\gamma_n\}$  are sequences in [0, 1] which satisfy the following conditions:

- (a)  $\limsup_{n \to \infty} \alpha_n < 1$  and  $0 < \liminf_{n \to \infty} \gamma_n \le \limsup_{n \to \infty} \gamma_n < 1$ ,
- (b)  $\liminf_{n \to \infty} \alpha_n > 0$  and  $0 < \liminf_{n \to \infty} \beta_n \le \limsup_{n \to \infty} \beta_n < 1$ ,
- (c)  $\lim_{n\to\infty} \alpha_n = \alpha$ , for some  $\alpha \in (0,1)$ .

Then  $\{x_n\}$  converges weakly to  $x \in \bigcap_{i=1}^3 F(T_i)$ .

*Proof.* By Theorem 3.2, we obtain

- (1)  $\lim_{\substack{n \to \infty \\ = 0,}} \|x_n T_1 x_n\| = 0, \lim_{n \to \infty} \|x_n T_2 z_n\| = 0 \text{ and } \lim_{n \to \infty} \|T_3 z_n T_3 y_n\|$
- (2)  $\lim_{n \to \infty} \|z_n x_n\| = 0$ ,  $\lim_{n \to \infty} \|y_n x_n\| = 0$  and  $\lim_{n \to \infty} \|x_{n+1} T_3 z_n\| = 0$ , (3)  $\lim_{n \to \infty} \|x_n - T_2 x_n\| = 0$ .

By Lemma 3.1, we know that a sequence  $\{x_n\}$  is bounded, so it has a weakly convergent subsequence. We may assume that  $x_n \rightarrow x$ , for some  $x \in C$ . By (2), we obtain  $z_n \rightarrow x$  and  $y_n \rightarrow x$ . It follows by Theorem 3.4 that  $x \in F(T_1)$  and  $x \in F(T_2)$ . From

$$x_{n+1} = (1 - \alpha_n)T_3z_n + \alpha_n T_3y_n$$

and  $T_3$  is weakly continuous, we obtain

 $x_{n+1} = (1 - \alpha_n)T_3 z_n + \alpha_n T_3 y_n \rightharpoonup (1 - \alpha)T_3 x + \alpha T_3 x = T_3 x,$ 

which implies  $x = T_3 x$ , this is  $x \in F(T_3)$ . Therefore,  $x_n \rightharpoonup x$  and  $x \in \bigcap_{i=1}^3 F(T_i)$ .

**Acknowledgement :** The author would like to thank Faculty of Science, Lampang Rajabhat university, for financial support during the preparation of this paper.

### References

- [1] V. Berinde, On the approximation of fixed points of weak contractive mappings, Carpathian J. Math. 19 (2003) 7-22.
- [2] W.R. Mann, Mean value methods in itreratoin, Proc. Amer. Math. Soc. 4 (1953) 506-510.
- [3] S. Ishikawa, Fixed points by a new iteration method, Proc. Amer. Math. Soc. 44 (1974) 147-150.
- [4] M.A. Noor, New approximation schemes for general variational inequalities, J. Math. Anal. Appl. 251 (2000) 217-229.
- [5] W. Phuengrattana, S. Suantai, Comparison of the rate of convergence of various iterative methods for the class of weak contraction in Banach spaces, Thai J. Math. 11 (11) (2003) 217-226.

(Received 2 May 2017) (Accepted 18 November 2017)

 $\mathbf{T}_{\mathrm{HAI}} \; \mathbf{J.} \; \mathbf{M}_{\mathrm{ATH.}} \; \mathrm{Online} \; @ \; \mathsf{http://thaijmath.in.cmu.ac.th}$